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1.Which EMC NetWorker software component is responsible for storing metadata in the form of hash IDs
for a deduplication backup?

A. Storage node

B. NetWorker client

C. Deduplication node

D. NetWorker server

Answer: A

2.Click the Calculator icon in the upper left-hand corner. In an EMC NetWorker environment, the customer
is backing up 7.5 TB per day. The 7.5 TB is comprised of 750 million files.

According to EMC best practices, approximately how large will the Client File Index (CFl) be?

A. 167 GB

B.70 GB

C.209GB

D. 307 GB

Answer: A

3.Click the Calculator icon in the upper left-hand corner. In an EMC NetWorker environment, the customer
is backing up 500 GB per day. The 500 GB is comprised of 35,000 very large files.

According to EMC best practices, approximately how large will the Client File Index (CFl) be?

A.6 MB

B.4 MB

C.8MB

D. 10 MB

Answer: C

4 When adding an EMC NetWorker server's name into the /nsr/res/servers file of a client, which service
must be restarted on the client for the change to take effect?

A. nsrexecd

B. nsrd

C. nsrindexd

D. nsrdb

Answer: A

5.A customer has just upgraded their EMC NetWorker server. The upgrade included a new IP address
and hostname.

After updating the configuration file on the client, which service should be restarted in order for the change
to be recognized?

A. nsrdb

B. nsrexecd

C. nsrd

D. nsrindexd

Answer: B
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